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. show atm interface atm - "input" 7I 2E{& XA A|L. O| 7IRE{= 14 MEtE|X| o2 =
g 2dgLch
7200-1.3#show atm interface atm 6/0
Interface ATM6/0:
AAL enabled: AAL5 , Maximum VCs: 4096, Current VCCs: 16
Maximum Transmit Channels: 0
Max. Datagram Size: 4528
PLIM Type: DS3 - 45000Kbps, Framing is C-bit PLCP,
DS3 1lbo: short, TX clocking: LINE
Cell-payload scrambling: OFF
0 input, 0 output, 0 IN fast, 0 OUT fast, 0 out drop
Bandwidth distribution : PVP: 45000VBR-NRT : 6400
Link oversubscribed by 6400 kbps
Config. is ACTIVE
. show atm traffic - "Input packets" 7} 2E{E H X AAI2.
7200#show atm traffic
0 Input packets
Output packets
Broadcast packets
Packets received on non-existent VC
Packets attempted to send on non-existent VC

O O O O O

OAM cells received
F5 InEndloop: 0, F5 InSegloop: 0, F5 InAIS: 0, F5 InRDI: 0
F4 InEndloop: 0, F4 InSegloop: 0, F4 InAIS: 0, F4 InRDI: O
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0 OAM cells sent
F5 OutEndloop: 0, F5 OutSegloop: O, F5 OutRDI: O
F4 OutEndloop: 0, F4 OutSegloop: O, F4 OutRDI: O
0 OAM cell drops
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Router# show atm pvc 0/99

ATM 2/0.2: VCD 102, VPI: 0, VCI: 60

UBR, PeakRate: 155000

AALS5-LLC/SNAP, etype:0x0, Flags: 0xC20, VCmode: 0x1

OAM frequency: 3 second(s), OAM retry frequency: 1 second(s)

OAM up retry count: 3, OAM down retry count: 5

OAM Loopback status: OAM Sent

OAM VC state: Not Verified

ILMI VC state: Not Managed

VC is managed by OAM

InARP frequency: 15 minute(s)

InPkts: 1, OutPkts: 1, InBytes: 32, OutBytes: 32

InPRoc: 1, OutPRoc: 0, Broadcasts: 0

InFast: 0, OutFast:0, InAS: 0, OutAS: O

OAM cells received: 14

F5 InEndloop: 14, F5 InSegloop: 0, F5 InAIS: 0, F5 InRDI: O
F4 InEndloop: 0, F4 InSegloop: 0, F4 InAIS: 0, F4 InRDI: O
OAM cells sent: 25

F5 OutEndloop: 25, F5 OutSegloop: 0, F5 OutRDI: 0

OAM cell drops: 0

PVC Discovery: NOT_VERIFIED

Status: DOWN, State: NOT_VERIFIED
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A. atm oam ™ ZHI|ag|o|M HE2 2 E vCol CHal OAME & AstEFLCt.

switch#show atm vc interface atm 0/0/1 7 187

Interface: ATM0/0/1, Type: oc3suni

VPI = 7 VCI = 187

Status: UP
Time-since-last-status-change: 00:07:49
Connection-type: PVC

Cast-type: point-to-point
Packet-discard-option: disabled
Usage-Parameter-Control (UPC): pass

Wrr weight: 2

Number of OAM-configured connections: 19
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OAM-configuration: Seg-loopback-on End-to-end-loopback-on Ais-on Rdi-on
OAM-states: OAM-Up

!--- Ensure the state is OAM-UP. OAM-Loopback-Tx-Interval: 5
Cross-connect-interface: ATM-P1/1/0, Type: ATM-PSEUDO
Cross-connect-VPI = 1

Cross-connect-VCI = 219

Cross-connect-UPC: pass

Cross-connect OAM-configuration: Seg-loopback-on Ais-on
Cross-connect OAM-state: OAM-Up Segment-loopback-failed
OAM-Loopback-Tx-Interval: 5

Threshold Group: 3, Cells queued: 0

Rx cells: 8, Tx cells: 155

Tx Clp0:143, Tx Clpl: 12

Rx Clp0:8, Rx Clpl: O

Rx Upc Violations:0, Rx cell drops:0

Rx Clp0 g full drops:0, Rx Clpl gthresh drops:0

Rx connection-traffic-table-index: 703

Rx service-category: VBR-NRT (Non-Realtime Variable Bit Rate)
Rx pcr-clp0l: 2605

Rx scr-clp0O : 2605

Rx mcr-clp0l: none

Rx cdvt: 1024 (from default for interface)

Rx mbs: 50

Tx connection-traffic-table-index: 703

Tx service-category: VBR-NRT (Non-Realtime Variable Bit Rate)
Tx pcr-clp0l: 2605

Tx scr-clp0 : 2605

Tx mcr-clp0l: none

Tx cdvt: none

Tx mbs: 50
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